AP® PSYCHOLOGY
2015 SCORING GUIDELINES

Question 1
General Considerations

1. Answers must be presented in sentences, and sentences must be cogent enough for the student’s
meaning to come through. Spelling and grammatical mistakes do not reduce a student’s score, but
spelling must be close enough so that the reader is convinced of the word.

2. Within a point, a student will not be penalized for misinformation unless it directly contradicts correct
information that would otherwise have scored the point.

3. A student can score points only if the student clearly conveys which part of the question is being
answered. However, it is also possible to infer what part of the question is being answered if the
response is consistent with the order of the question.

4. Rubric examples provided for each point are not exhaustive.

Part A: How might the following explain why people may easily accept the conclusion of the study?
Point 1: Confirmation bias
A student’s response must indicate that people may easily accept the conclusion of the study (sugar causes
hyperactivity) if the conclusion supports their previously held beliefs (e.g., if they expect that sugar would
cause hyperactivity, then they will be more likely to accept the conclusion).
Examples:
Score “People will pay more attention to the results of this study because it supports what they
already believe.”
Do not score references to the researchers’ bias.

Point 2: Availability heuristic

A student’s response must illustrate that an example about sugar causing hyperactivity that readily comes to
mind would lead to acceptance of the conclusion of the study (e.g., examples that “pop into mind” or are
easily recalled because they are recent, vivid, or distinctive).

Note: Reference to the availability of information alone is not sufficient; a connection must be made to the
immediacy of recalling it.

Example:
Do not score “They are more likely to believe it because it was on T.V.”

Point 3: Misunderstanding of correlational studies

A student’s response must indicate a failure to understand that correlation does not imply causation.

© 2015 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



AP® PSYCHOLOGY
2015 SCORING GUIDELINES

Question 1 (continued)

Part B: As a follow-up study, the researchers are designing an experiment to test whether sugar causes
hyperactivity. For this experiment, students were asked to accomplish the following three tasks.

Point 4: State a possible hypothesis

The student’s hypothesis must include a statement of causal relationship between sugar (cause) and
hyperactivity (effect). The student must indicate that something that is done with sugar (increased,
decreased, given, eaten, etc.) has an effect on hyperactivity. Exception: When stating a null hypothesis, the
student does not have to indicate that anything is done with sugar. The hypothesis can be in the form of a
research question.

Examples:
Score “Sugar has no effect on hyperactivity.” As mentioned above, the student does not have to
indicate that anything is done with sugar when stating a null hypothesis.

Do not score references to hyperactivity causing sugar consumption.

Point 5: Operationally define the dependent variable

The student must describe how a specific indicator for hyperactivity will be measured (e.g., number of times
out of a chair, times switching task, self-report scale, or any quantifiable indicator).

Example:
Do not score general descriptions of hyperactivity, such as “activity,
specific measureable indicator of hyperactivity.

nou

behavior,” or “movement” as a

Point 6: Describe how random assignment can be achieved

The student’s response must indicate that subjects have equal chance of being placed into groups or
conditions.

Examples:
Score “equal chance” if stated or described by a specific procedure (e.g., drawing names from a hat,

using a number generator/table, rolling dice) that places participants into groups by chance.

Do not score descriptions of random selection.
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Question 1 (continued)
Part C: Graph a possible result. (2 points)

Point 7: Label the axes

To receive credit for this point, the graph must be correctly labeled with sugar on the X (horizontal) axis and
hyperactivity (or a potential measurement of hyperactivity) on the Y (vertical) axis. Note: Students may label
the X axis by using a legend.

Example:

Hyperactivity

Sugar

Point 8: Result on graph

To receive credit for this point, the bars on the graph must be relatively the same length.

Example:
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Question 1 is reprinted for your convenience. ‘ A z OF 2’

1. Researchers conducted a naturalistic study of children between the ages of 5 and 7 years. The researchers visited
classrooms during class party celebrations. As a measure of hyperactivity, they recorded the number of times
children left their seats. The researchers found a strong positive correlation between sugary snacks offered at
the parties and hyperactivity. Based on these findings, the researchers concluded that sugar causes hyperactivity.

A. How might the following explain why people may easily accept the conclusion of the study described
above?

e Confirmation bias
¢ Availability heuristic
e Misunderstanding of correlational studies

B. As afollow-up study, the researchers are designing an experiment to test whether sugar causes hyperactivity.
For the experiment, please do the following.

e State a possible hypothesis.
e Operationally define the dependent variable.
o Describe how random assignment can be achieved.

C. Based on the results of the follow-up experiment described in Part B, researchers conclude that sugar does
not cause any change in hyperactivity.

e Draw a correctly labeled bar Oraph depicting this result.
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Question 1
Overview

The question requires students to respond to three aspects of a study that concludes that sugar causes
hyperactivity.

The question has three parts: Part A, which requires the student to show understanding of confirmation bias,
availability heuristic, and misunderstanding of correlational studies, by explaining why these concepts might
lead people to easily accept the conclusion of the study; Part B, which requires the student to discuss a
follow-up study by stating a hypothesis, operationally defining the dependent variable, and describing the
process of random assignment; and Part C, which requires the student to draw and correctly label a bar
graph that depicts the conclusion of the follow up study that finds that sugar does not cause any change in
hyperactivity. For all points, students must demonstrate an understanding of the concept and an ability to
apply it to the appropriate context.

Sample: 1A
Score: 7

The response did not score point 1 because it does not indicate a previously held belief but instead describes
a hindsight bias of believing that they knew it all along after the research is conducted. The response scored
point 2 because it describes an example that is immediately thought of, and pops into mind, which makes a
person more likely to accept the conclusion of the study. The response scored point 3 because it states that
many people believe that correlation means causation, but that this is not true. The response scored point 4
because it states that if children consume sugary snacks, then they will be hyperactive, which indicates a
causal relationship. The response scored point 5 because it defines the level of activity of the students as the
number of times that they left their seats. The response scored point 6 because it discusses the use of a
random number generator to assign students to groups. The response scored point 7 because the Y axis is
correctly labeled with a measure of hyperactivity, and the X axis is correctly labeled with sugary snacks. The
response scored point 8 because the bars on the graph are relatively the same length.

Sample: 1B
Score: 4

The response did not score point 1 because there is no indication of a previously held belief about sugar and
hyperactivity. The response did not score point 2 because it does not indicate that an example that is easily
recalled leads to acceptance of the conclusion. The response scored point 3 because it describes a common
misunderstanding that correlation does not mean causation. The response scored point 4 because it
indicates that if sugar is given, then children will be more hyperactive. The response did not score point 5
because it merely names hyperactivity as the dependent variable but does not indicate how the dependent
variable will be measured. The response did not score point 6 because it describes random selection instead
of random assignment, as no groups are identified. The response scored point 7 because the Y axis is
correctly labeled with a measurement of hyperactivity, and the X axis is correctly labeled with sugar. The
response scored point 8 because the bars on the graph are relatively the same length.

Sample: 1C
Score: 2

The response did not score point 1 because it does not describe any previously held belief that sugar causes
hyperactivity. The response did not score point 2 because it does not discuss an example that readily comes
to mind about sugar and hyperactivity that leads people to accept the conclusion of the study. The response
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Question 1 (continued)

did not score point 3 because it only discusses correlation and does not indicate that correlation does not
imply causation. The response scored point 4 because it indicates that more sugar results in an increase in
hyperactivity. Increase is described in this essay by using the word “more.” The response did not score point
5 because there is no indication of how hyperactivity will be measured. The response did not score point 6
because it does not explain that participants will be assigned to groups by chance. The response scored
point 7 because the graph is correctly labeled with hyperactivity on the Y axis, and amount of sugary snacks
on the X axis. The response did not score point 8 because the bars on the graph are not relatively the same
length.
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